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Topology of R

What is topology of R?

We talk about concepts of open,closed sets, neighborhoods b/c we consider
points close to one another. We call it all point set topology.

What does it mean when one point is closer than another point to some fixed
point?

Other important concepts are continuity, compactness, connectedness. What
are the correct definitions of these topological ideas? Why are they important?
They can help to clarify why ,for example, the EVT and IVT theorems are true
for continuous functions.

Definition 1. distance in an ordered field

Let F be an ordered field.

Let a,be F.

The distance between a and b, denoted d(a,b), is defined by the rule
d(a,b) = |a —bl.

The distance in an ordered field F' is a function from F' x F to F.

Theorem 2. properties of the distance function
Let F be an ordered field. For all x,y,z € F
D1. d(z,y) >
D2. d(z,y) 70 iff ct =y.
D3. d(z,y) = d(y,z).
Dy. d(x,y) < d(z,z) +d(z,y).

D1 implies all distances are positive or zero. Therefore, |z — y| > 0.
D2 implies d(x,y) # 0 iff = # y.

Since d(z,y) > 0, then d(x,y) > 0 whenever = # y.

Therefore, different points are at a positive distance apart.

Thus, |z —y| > 0 iff x # y.

D3 implies distance from x to y is the same as from y to z.
Therefore, distance is symmetric.

Thus, |z —y| = |y — |-

D4 is the triangle inequality.

Therefore, |z —y| < |z — z| + |z — y|.



An interval is the set of all real numbers between two given real numbers a
and b.

Definition 3. interval

Let I C R.

Then [ is an interval iff whenever a and b are elements of I and c is a real
number between a and b, then ¢ € I.

In symbols, I is an interval iff (Va,b,c € R)[(a, b€ INa<c<b) —cel].

Therefore I is not an interval iff (3a,b,c € R)[(a, b€ IANa <c<b)Ac¢I].

Intervals have the property of containing a number between any two of its
members.

Let a,b € R.

Types of intervals:

[a,b] = {x € R:a < x < b} = closed and bounded
(a,b) ={x € R:a <z < b} = open and bounded
[

)
a,b) ={z € R:a <z < b} = closed-open and bounded
(a,b) ={z € R:a <z < b} = open-closed and bounded
[a,00) = {z € R:a <z} = closed and unbounded above

00

)

( )={x € R:a <z} = open and unbounded above
(—00,b] ={z € R: x < b} = closed and unbounded below
(—00,b) = {z € R: 2 < b} = open and unbounded below
(—00,0) =R

a,

Definition 4. open interval
Let a,b € R.
The open interval, denoted (a,b), is the set {z € R:a < x < b}.

Therefore, (a,b) = {x € R:a <z < b}.

Proposition 5. Let a,b € R.
If a > b, then (a,b) = 0.
If a < b, then (a,b) # 0.

Therefore, the open interval (a,a) = {x € R:a < z < a} = 0 is the empty
set.

Definition 6. closed interval
Let a,b € R.
The closed interval, denoted [a, b], is the set {z € R : a < z < b}.

Therefore, [a,b] = {z € R:a <z < b}.
Proposition 7. Let a,b € R.

Then (a,b) C [a,b].
Proposition 8. Let a,b € R.

If a > b, then [a,b] = 0.

If a =b, then [a,b] = {a}.

If a < b, then [a,b] # 0.



Example 9. The closed interval [a,a] = {x € R :a < z < a} = {a} is a
singleton set.

We call an interval that is either empty or a singleton set a degenerate
interval.

Definition 10. length of an interval
Let a,b € R with a < b.
The length of the interval from a to b is b — a.

Let a,b € R with a < b.
The length of the open interval (a,b) is b — a.
The length of the closed interval [a,b] is b — a.

Proposition 11. The distance between any two points in the interval
(a,b) is less than b — a.

Let a,b € R.

Let x,y be any real numbers such that a <z <b and a <y < b.

Then |z —y| < b—a.

Corollary 12. Let a,b € R with a < b.
Let z,y be any real numbers such that x € [a,b] and y € [a,b)].
Then |x —y| < b—a.

Let a,b € R with a < b.

Let z,y be any real numbers such that = € [a,b] and y € [a, b].

Then |z —y| < b—a.

Therefore, the distance between any two points of the closed interval [a, ]
is less than or equal to the length of the interval.

Proposition 13. Let I C R be an interval.
Ifael andbe I and a <b, then [a,b] C I.

Definition 14. unit interval
The open unit interval is the set (0, 1).
The closed unit interval is the set [0, 1].

Proposition 15. intersection of any two intervals is an interval
If I and Is are intervals, then I N 15 is an interval.

Proposition 16. intersection of a countable collection of intervals is
an interval
If{I, :n € Z"} is a collection of intervals, then N>, I,, is an interval.

Let S C R.
Then S is convex iff S is an interval.

Definition 17. § neighborhood of a point
Let § be a positive real number.
Let p e R.
The § neighborhood of p, denoted N (p;d), is the set {z € R: d(x,p) < ¢}.



Observe that

N(p;d) = {rxeR:d(z,p) <}
= {zeR:|z—p|<d}
= {zeR:-d<z—p<i}
= {zeR:p-d<z<p+4}
= (p—d,p+9)

Therefore, the § neighborhood of p € R is the open interval (p— 4§, p+9).

Let 6 > 0.
Let N(p;d) be the § neighborhood of p € R.
Then N(p;6) ={z € R:d(z,p) < d}.
Since d(p,p) = |p —p| = 0 < 4, then p € N(p;9).
Therefore, a point p is in the § neighborhood of p and N(p;d) # 0.

A 6 neighborhood of a point p is an open interval centered at p of radius 4.

Example 18. every nonempty open interval is the ¢ neighborhood of
some point
Let a,b € R.

If a < b, then N(%Eb; 222 = (q,b).

Therefore, if a < b, then the open interval (a,b) is the %52 neighborhood of

2
atb the midpoint of a and b.

the point

Proposition 19. Let p € R.
Let 6,e € R.
If 0 < 6 <, then N(p;d) C N(p;e).

Definition 20. deleted ¢ neighborhood of a point

Let € > 0.

The deleted ¢ neighborhood of a point p, denoted N'(p;¢), is the set of
all points in the € neighborhood of p except p.

Therefore, N'(p;e) = N(p;¢) — {p}.

Example 21. deleted ¢ neighborhood is a subset of the ¢ neighborhood
of a point

Let € > 0.

Let p e R.

Then N'(p;e) C N(p;e) and N'(p;e) = (p —€,p) U (p,p +€).

Therefore, N'(p;€) = (p —€,p) U (p,p+€) C (p—€,p+¢€) = N(p;e).
Since (p —€,p) C (p—€,p) U(p,p+¢€), then (p—€,p) C (p—€,p+€).
Since (p,p+¢€) C(p—€,p)U(p,p+e), then (p,p+e€) C(p—e,p+e).



Definition 22. neighborhood of a point
A set S is a neighborhood of a point p iff some e neighborhood of p is
contained in S.

Therefore, a set S is a neighborhood of a point p € R iff there exists € > 0
such that N(p;e) C S.

Thus, a set S is a neighborhood of a point p € R iff there exists € > 0 such
that (p —e,p+¢€) CS.

Let S be a neighborhood of p € R.
Then there exists € > 0 such that N(p;e) C S.
Since p € N(p;¢) and N(p;e) C S, then p € S, so S # 0.
Thus, if S is a neighborhood of a point p € R, then S is not empty.
Therefore, a neighborhood of a point p € R is not empty.

Proposition 23. Fvery ¢ neighborhood of a point is a neighborhood of
the point.

Let p e R.

Then N (p;e€) is a neighborhood of p for every e > 0.

Types of points in R

Definition 24. interior point

A point p is an interior point of a set S iff some e neighborhood of p is
contained in S.

Therefore, a point p is an interior point of a set S iff (3e > 0)(N(p;¢€) C 5).

A point p is not an interior point of a set S iff

no € neighborhood of p is contained in S iff

every € neighborhood of p is not contained in S iff
every € neighborhood of p contains some point not in S.
Observe that

(3> 0)(N(pie) € S) & (Ve>0)(N(pie) £ 5)
< (Ve > 0)~(Vx)(x € N(p;e) > x €95)
< (Ve>0)(3z)(x € N(p;e) ANz & S)
< (Ve>0)(3z € N(p;e))(z € 5)

Therefore, a point p is not an interior point of a set S iff (Ve > 0)(3z €
N(p;e))(z € 5).

Example 25. () has no interior points.
There is no interior point of the empty set.

Let S be a set.

Since there is no interior point of @), then if S = (), then there is no interior
point of S.

Therefore, if there is some interior point of S, then S # 0.



Let p be an interior point of a set S.
Then there exists € > 0 such that N(p;e) C S.
Since p € N(p;e) and N(p;e) C S, then p € S.
Thus, if p is an interior point of S, then p € S.
Therefore, every interior point of a set S is an element of S.

Example 26. A singleton set has no interior points.
Let p e R.
Then p is not an interior point of the set {p}.

Example 27. Let a,b € R with a < b.
Every point in the open interval (a, b) is an interior point of the open interval

(a,b).

Proposition 28. Let A and B be sets.
If p is an interior point of A and A C B, then p is an interior point of B.

Example 29. Let a,b € R with a < b.
Every point in the closed interval [a,b] except the end points a and b is an
interior point of the closed interval [a, b].

Example 30. No natural number is an interior point of N.
Example 31. No rational number is an interior point of Q.
Example 32. Every real number is an interior point of R.

Definition 33. boundary point
A point p is a boundary point of a set S iff every e neighborhood of p
contains an element of S and an element not in S.

Definition 34. accumulation point
A point p is an accumulation point of a set S iff every e neighborhood
of p contains some point of S distinct from p.

Observe that

(Ve > 0)(3z € S)(x € N(p;e) Az # p)
(Ve > 0)(3z € S)(x € N'(p;¢))

(Ve > 0)(3z € SN N'(p;e))

(Ve > 0)(Fz € N'(p;e) N S)

(Ve > 0)(3z)(z € N'(p;e) N S)

(Ve > 0)(N'(p;e) N S #

SR O

Therefore, a point p is an accumulation point of a set S iff (Ve > 0)(3x €
S)(z € N(p;e) Az # p).

Hence, a point p is an accumulation point of a set S iff every deleted e
neighborhood of p contains some point of S iff (Ve > 0)(3z € S)(x € N'(p;¢)).



Thus, a point p is an accumulation point of a set S iff (Ve > 0)(N'(p;e)NS #
0).

A point p is not an accumulation point of a set S iff some deleted € neigh-
borhood of p contains no point of S.

Observe that

(Ve > 0)(N'(p;e) NS #0) < (Fe > 0)(N'(p;e) NS =10)

Therefore, a point p is not an accumulation point of a set S iff (Je >
0)(N'(p;e) NS =10).
An accumulation point of a set S does not have to be in S.

Example 35. accumulation point of a set need not lie in the set
Let S = (0,1).
Then 1 is an accumulation point of S, but 1 € S.

Example 36. point of a set need not be an accumulation point
Let S =(0,1) U{2}.
Then 2 € S, but 2 is not an accumulation point of S.

Example 37. Let S = {1 :n e N}
Then 0 is an accumulation point of S and 1 is not an accumulation point of

S.

Example 38. () has no accumulation points.
There is no accumulation point of the empty set.

Thus, there does not exist a point p such that p is an accumulation point of

Hence, for every point p, p is not an accumulation point of .
Let p be a point.

Let S be a set.

If S = 0, then p is not an accumulation point of S.

Therefore, if p is an accumulation point of a set S, then S # (.

Example 39. A singleton set has no accumulation points.
Let z € R.
There is no accumulation point of the set {z}.

Thus, there does not exist a point p such that p is an accumulation point of

Hence, for every point p, p is not an accumulation point of {z}.

Let p be a point.

Let S be a set.

If S = {z}, then p is not an accumulation point of S.

Therefore, if p is an accumulation point of a set S, then S # {x}.

Thus, if p is an accumulation point of a set S, then S # @) and S # {z}.

Therefore, if p is an accumulation point of a set S, then S contains at least
two elements.



Example 40. A finite set has no accumulation points.
There is no accumulation point of a finite set.

Therefore, if S is a finite set, then there is no accumulation point of S.
Thus, if there is an accumulation point of a set S, then S is not finite.
Therefore, if there is an accumulation point of a set S, then S is infinite.

Example 41. Every point in [a,b] is an accumulation point of (a,b).
Let a,b € R.
If a < b, then every point in the closed interval [a,b] is an accumulation
point of the open interval (a, b).

Let a,b € R with a < b.
If z € [a,b], then z is an accumulation point of (a, b).
Therefore, if a < x < b, then z is an accumulation point of (a,b).

Lemma 42. Let A and B be sets.
If p is an accumulation point of A and A C B, then p is an accumulation
point of B.

Example 43. Every point in [a,b] is an accumulation point of [a, b].
Let a,b € R.
If @ < b, then every point in the closed interval [a,b] is an accumulation
point of the closed interval [a, b].

Let a,b € R with a < b.
If « € [a,b], then x is an accumulation point of [a, b].
Therefore, if a < x <b, then x is an accumulation point of [a, b].

Proposition 44. FEvery point in an interval of at least two elements is
an accumulation point of the interval.

Let I C R be an interval with at least two elements.

If a € I, then a is an accumulation point of I.

Example 45. N has no accumulation points.
No integer is an accumulation point of N.
No point in R is an accumulation point of N.

Example 46. Every real number is an accumulation point of Q.
Example 47. Every real number is an accumulation point of R.

Proposition 48. FEvery interior point of a set S is an accumulation
point of S.

Let S be a set.

If p is an interior point of S, then p is an accumulation point of S.

Definition 49. isolated point
A point p is an isolated point of a set S iff p € S and there is an ¢
neighborhood of p such that N(p;e) NS = {p}.



Therefore, a point p is an isolated point of a set S iff p € S and (Je >
0)(N(p;€) NS = {p}).

Equivalently, a point p is an isolated point of a set S iff p € S and there is
a deleted € neighborhood of p such that N'(p;e) NS = 0.

Therefore, a point p is an isolated point of a set S iff p € S and (Je >
0)(N'(p;) N S = 0).

Therefore, a point p is an isolated point of a set .S iff p € S and p is not an
accumulation point of S.

Therefore, a point p is not an isolated point of a set S iff either p € S or p
is an accumulation point of S.

Example 50. Let S = {1 :n e N}
Then each element of S is an isolated point of S.

Example 51. No point is an isolated point of (.
Therefore, the empty set has no isolated points.

Example 52. Let z € R.
Then z is an isolated point of the singleton set {z}.

Example 53. Let a,b € R.
No point in the open interval (a,b) is an isolated point of (a,b).

Example 54. Let a,b € R.
If a # b, then no point in the closed interval [a,b] is an isolated point of

[a, b].

Example 55. Every natural number is an isolated point of N.

Example 56. No rational number is an isolated point of Q.
Therefore, Q has no isolated points.

Example 57. No real number is an isolated point of R.
Therefore, R has no isolated points.

Proposition 58. Fvery element of a nonempty set is either an interior point
or a boundary point.

Proposition 59. FEvery element of a nonempty set is either an accumulation
point or an isolated point.

Example 60. Since N is infinite and N has no accumulation points, then the
converse ‘if S is infinite, then S has an accumulation point’ is false.



Sets in R

Definition 61. interior of a set
The set of all interior points of a set S, denoted S°, is called the interior
of S.

Let S° be the interior of a nonempty set S.
Then

S° = {z:xis an interior point of S}
= {z:2e€SA36>0)(N(x:8) S}
= {zeS:(35>0)(N(z;6) C 9)}

Thus, if S # (), then S° C S.

Example 62. The interior of () is empty.

Since there is no interior point of the empty set, then the interior of the
empty set is empty.

Therefore, (° = (.

Since §° = () and () C (), then (° C 0.
Since S° C S if S # ), then S° C S for every set S.
Therefore, the interior of S is a subset of S for every set S.

Example 63. The interior of a singleton set is empty.
Let z € R.
Then {z}° C {z}, so either {z}° =0 or {z}° = {x}.
Since z is not an interior point of {x}, then {z}° # {z}.
Therefore, {z}° = 0.

Example 64. The interior of N is empty.
Since no natural number is an interior point of N, then every natural number
is not an interior point of N.
Thus, there are no interior points in N, so N has no interior points.
Therefore, the interior of N is empty, so N° = ().

Example 65. The interior of QQ is empty.
Since no rational number is an interior point of QQ, then every rational number
is not an interior point of Q.
Thus, there are no interior points in Q, so Q has no interior points.
Therefore, the interior of Q is empty, so Q° = 0.

Example 66. The interior of R is R.
Since every real number is an interior point of R, then if » € R, then r € R°.
Hence, R C R°.
Since R° C R and R C R®, then R° = R.
Therefore, R° = R.

Proposition 67. Let A CR and B C R.
If A C B, then A° C B°.
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Proposition 68. Let a,b € R. Then
1. (a,b)° = (a,b).
2. [a,b]° = (a,b).

Let a,b € R.

Then the interior of the open interval (a,b) is the open interval (a,b) and
the interior of the closed interval [a, b] is the open interval (a, b).

Since (a, b)° = (a,b), then (a,b) C a,b)°.

Therefore, every point in (a,b) is an interior point of (a, b).

Thus, if x € (a,b), then x is an interior point of (a,b).

Since [a,b]° = (a,b) and a & (a,b) and b & (a,b), then the interior of [a,b] is
the set of all points in [a, b] except the endpoints a and b.

Proposition 69. Let A C R.
Then A°° = A°.

Proposition 70. Let ACR and B C R.
Then (AN B)° = A° N B°.

Proposition 71. Let ACR and B C R.
Then (AU B)° D A°U B°.

Definition 72. open set
A set S is open iff every point in S is an interior point of S.

Therefore, a set S is open whenever if p € S, then p is an interior point of
S.

Thus, a set S is open iff (Vp € S)(Je > 0)(N(p;¢) C S).

A set S is not open iff some point in S is not an interior point of S.

Observe that

—(Vp € §)(3e > 0)(N(p;e) C 5) Ve > 0)(N(p;e) ¢ S)
Ve > 0)=(N(p;e) C S)
Ve > 0)~(Va)(xz € N(p;e) = xz € 5)
Ve > 0)(3z)(z € N(p;e) Ax &€ 5)
)

Ve > 0)(3z € N(p;e))(z € S)

K R A

—_— = ==

Therefore, a set S is not open iff (Ip € 5) (Ve > 0)(Iz € N(p;e))(z & S).

Example 73. () is open.
The empty set is open.

Proof. Since () is empty, then there is no element in (), so there is no = € () such
that x is not an interior point of (.
Therefore, for every x € (), x is an interior point of @), so @) is open. O

Proof. Since there is no element in @), then the conditional ‘if x € (), then x is
an interior point of (" is vacuously true.
Therefore, () is open. O
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Example 74. A singleton set is not open.
Let z € R.
Then the set {z} is not open.

Proof. Since x is not an interior point of {x}, then {z} is not open. O

Example 75. N is not open.
The set of natural numbers is not open.

Proof. Since no natural number is an interior point of N, then there is non € N
such that n is an interior point of N.

Hence, for every n € N, n is not an interior point of N.

Since N = (), then there exists n € N such that n is not an interior point of
N

Therefore, N is not open. U

Example 76. Q is not open.
The set of rational numbers is not open.

Proof. Since no rational number is an interior point of @, then there is no g € Q
such that ¢ is an interior point of Q.

Hence, for every g € Q, ¢ is not an interior point of Q.

Since Q # (), then there exists ¢ € Q such that ¢ is not an interior point of

Q.
Therefore, Q is not open. O

Example 77. R is open.
The set of real numbers is open.

Proof. Since every real number is an interior point of R, then R is open. O

Example 78. Every bounded open interval is open.
Let a,b € R.
Then the open interval (a,b) is open.

Proof. Since every point in (a,b) is an interior point of (a,b), then (a,b) is
open. O

Example 79. An unbounded open interval is open.
Let a,b € R.
Then the interval (a, 00) is open and the interval (—oo, ) is open.

Example 80. A closed bounded interval is not open.
Let a,b € R with a < b.
Then the closed bounded interval [a, b] is not open.

Proof. Since a € [a,b], but a is not an interior point of [a, b], then [a, b] is not
open. O

Proposition 81. A set S is open iff S° = S.

12



Proposition 82. Let ACR and B C R.
1. If A is open and B is open, then AU B is open.
2. If A is open and B is open, then AN B is open.

Theorem 83. topological properties of open sets in R
1. The union of any collection of open sets in R is open.
2. The intersection of any finite collection of open sets in R is open.

Corollary 84. R s a topological space
Let T be the set of all open subsets of R. Then
Ti. DeTandReT.
T2. The union of any collection of sets in T is in T.
T3. The intersection of any finite collection of sets in T is in 7.

Let 7 be the set of all open subsets of R.
Since T'1,T2, and T3 are true, then 7 is a topology on R.
Therefore, (R, 7) is a topological space.

Let 7 be the set of all open subsets of R.
Then 7 = {5 : S is an open subset of R}.
T1.
Since () € 7, then () is an open subset of R, so () is open.
Since R € 7, then R is an open subset of R, so R is open.

T2.
Let S be a collection of sets in 7.
Since the union of any collection of sets in 7 is in 7, then US is in 7.
Therefore, US € 7.
We say that 7 is closed under arbitrary union.

T3.
Let S be a finite collection of sets in 7.
Since the intersection of any finite collection of sets in 7 is in 7, then NS is
in 7.
Therefore, NS € 7.
We say that 7 is closed under finite intersection.

Example 85. union of a countable family of open sets is open
Let {S,, : n € N} be a family of open subsets of R indexed by N.
Then U2, S, is open.

Example 86. intersection of an infinite collection of open sets is not

necessarily open
Let {(=%, 1) : n € N} be a family of open intervals of R indexed by N.

n’'n
Then M52, (=1, 1) = {0} is not open.
Therefore, at least one collection of open sets in R is not closed under arbi-

trary intersection.
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Theorem 87. characterization of open sets in R
A nonempty subset of R is open iff it is a union of bounded open intervals.

Definition 88. derived set
The set of all accumulation points of a set S, denoted S’, is called the
derived set of S.

Example 89. Since N has no accumulation points, then no point in R is an
accumulation point of N.

Hence, the set of all accumulation points of N is empty.

Therefore, N’ = ().

Definition 90. closure of a set
The closure of a set S, denoted S, is the set S U S’.

Therefore, S~ = SUS’.

Definition 91. closed set
A set S is closed iff every accumulation point of S is an element of S.

Therefore, a set S is closed whenever if p is an accumulation point of S, then
peSs.

Therefore, a set S is closed iff S contains all of its accumulation points.

Thus, a set .S is not closed iff

some accumulation point of S is not an element of S iff

there exists an accumulation point p of S such that p &€ S.

Proposition 92. A set with no accumulation points is closed.

Example 93. ( is closed.
The empty set is closed.

Proof. Since there is no accumulation point of the empty set, then @) is a set
with no accumulation points.
Therefore, () is closed. O

Example 94. Every finite set is closed.
If S is a finite set, then S is closed.

Proof. Let S be a finite set.

Since S is finite, then there is no accumulation point of S, so S is a set with
no accumulation points.

Therefore, S is closed. U

Example 95. N is closed.
The set of natural numbers is closed.

Proof. Since N has no accumulation points, then N is a set with no accumulation
points.
Therefore, N is closed. O
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Example 96. Q is not closed.
The set of rational numbers is not closed.

Proof. Since every real number is an accumulation point of Q, then in particular,
the real number /2 is an accumulation point of Q.

Since v/2 is irrational, then V2 ¢ Q.

Therefore, Q is not closed. O

Example 97. R is closed.
The set of real numbers is closed.

Proof. Since every real number is an accumulation point of R, then 0 is an
accumulation point of R, so R has at least one accumulation point.

Let = be an arbitrary accumulation point of R.

By definition, every accumulation point of R is a real number.

Hence, x € R.

Therefore, R is closed. O

Example 98. An open interval is not closed.
Let a,b € R with a < b.
Then the open interval (a,b) is not closed.

Proof. Since a < b, then every point in the closed interval [a, b] is an accumula-
tion point of the open interval (a,b).

In particular, a € [a,b] is an accumulation point of (a, ).

But, a ¢ (a,b).

Therefore, the open interval (a, b) is not closed. O

Example 99. Every bounded closed interval is closed.
Let a,b € R.
Then the closed interval [a, b] is closed.

Since the closed interval [a,a] = {a} is closed, then the singleton set {a} is
closed.

Example 100. An unbounded closed interval is closed.
Let a,b € R.
Then the interval [a, o0) is closed and the interval (—oo, b] is closed.

Proposition 101. Let S C R.
1. If S is non empty, closed, and bounded above in R, then max S exists.
2. If S is non empty, closed, and bounded below in R, then min S exists.

Let S be a non empty closed bounded set of real numbers.

Since S is bounded in R, then S is bounded above and below in R.

Since S is non empty, closed, and bounded above in R, then max .S exists.

Since S is non empty, closed, and bounded below in R, then min S exists.

Therefore, if S is a non empty, closed and bounded set of real numbers, then
max .S and min S exist.
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Let S be a non empty closed bounded set of real numbers.
Then max S and min S exist.
Since max S exists, then sup .S = max S, so sup.S € S.
Since min S exists, then inf S = min S, so inf S € S.
Therefore, sup S € S and inf .S € S and for every x € S, inf S <z <supS.

Theorem 102. Let S C R.
Then S is open iff R — S is closed.

Let S C R.

Suppose S is open.

Then R — S is closed, so the complement of S in R is closed.
Therefore, the complement of an open set is closed.

Observe that

U

R-(R-S) = R-—(RN
= RN(RNS)
= RN(RUS)
= (RNR)U(RNSY)
= PURNS)
= RNS
S.

)

Thus, R— (R—5)=S6.

Suppose S is closed.

Then R — (R — S) is closed.

Hence, R — S is open.

Thus, the complement of S is open.

Therefore, the complement of a closed set is open.

In general, a neighborhood of p is a set that has an open subset containing p.

Compactness

Definition 103. covering of a set
A covering of a set S is a collection of sets F such that S C UF.

Let S be a set.

Let F be a collection(family) of sets.
Then F is a covering of S iff S C UF.
Observe that

SCUF & (Vr)(zeS—xzeUF)
& (Ve e S)(zeUF)
& (VzxeS)(FAe F)(xzeA).
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Therefore, a collection of sets F is a covering for a set S iff (Vo € S)(34 €
F)(zx € A).
Observe that

(Ve e S)FAeF)zeA) & (BrxeS)(VAeF)(z¢gA).

Therefore, a collection of sets F is not a covering for a set S iff (3x € S)(VA €
F)(xz & A).

Example 104. Let S = [1, c0).
Let 71 = {(0,1), (1,00)}.
Let 7> = {(0,1],(1,00)}.
Then F; is not a covering of .S, but F3 is a covering of S.

Definition 105. open covering
An open covering of a set S is a covering F of S such that each set in F
is open.

Definition 106. finite covering
A finite covering of a set S is a covering F of S such that F is a finite
set.

Definition 107. countable covering
A countable covering of a set S is a covering F of S such that F is a
countable set.

Definition 108. subcovering of a covering
A subcovering of a covering F of a set S is a covering G of S such that

GCF.

Example 109. a covering of a set is not unique
Let S =[1,00).
Let 71 = {(0,00)}.
Let /o ={(n—1,n+1) :n € N}.
Then F; is a finite covering of S and F3 is an infinite covering of S.

Example 110. Let S = [1,00).
Let F = {(0,n) : n € N}.
Let G = {(0,n) : n € N,n > 23}.
Then F is an open covering of S and G is a subcovering of F.

Definition 111. compact set
A set S is compact iff every open covering of S contains a finite subcovering
of S.

Therefore a set S is not compact iff some open covering of S contains no
finite subcovering of S.

Example 112. A finite set is compact.
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Since the empty set is finite, then () is compact.

Example 113. N is not compact
Define I, = (n — %,n + %) for each n € N.
Let F ={I, :n € N}.
Then F is an open covering of N, but F contains no finite subcovering of N.
Therefore, N is not compact.

Theorem 114. Lindelof covering theorem
Every open covering of a set S contains a countable subcovering of S.

Theorem 115. Heine-Borel covering theorem
Every open covering of a closed and bounded set S contains a finite subcov-
ering of S.

Let S be a closed and bounded set in R.

Then every open covering of S contains a finite subcovering of S.
Therefore, S is compact.

Thus, if a set S is closed and bounded, then S is compact.

Prove if S is compact, then S is closed and bounded.
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